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(v) @UE — T 7 397 G 22 @ 28 % Tg-ITT YR & ¥o7 8 | JAF Fo7 3 3HHl
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1
Te. =9x 109N m2C2
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L 1 gFAH = 1.675 x 10727 kg.
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TG ST = 6.023 x 1023 gfe 71 Hiet
SlegeH e = 1.38 x 10723 JK-1
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General Instructions :

Read the following instructions very carefully and follow them :

()
(1)
(iii)
(i)
(v)
(v)
(vii)

This question paper contains 33 questions. All questions are
compulsory.

This question paper is divided into five sections — Sections A, B, C, D
and E.

In Section A : Question numbers 1 to 16 are Multiple Choice type
questions. Each question carries 1 mark.

In Section B : Question numbers 17 to 21 are Very Short Answer type
questions. Each question carries 2 marks.

In Section C : Question numbers 22 to 28 are Short Answer type
questions. Each question carries 3 marks.

In Section D : Question numbers 29 & 30 are case study-based questions.
Each question carries 4 marks.

In Section E : Question numbers 31 to 33 are Long Answer type questions.
Each question carries 5 marks.

(viit) There s no overall choice given in the question paper. However, an

(ix)
(x)

I 55/2/1

internal choice has been prouvided in few questions in all the Sections
except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

You may use the following values of physical constants wherever necessary :
c=3x 108 m/s

h=6.63 x 10734 Js

e=1.6x10"1C

Hy=4mn x 1077 Tm A~

gy = 8.854 x 10712 C2 N1 m~2

1
Te. =9x 109N m2C2

Mass of electron (m,) = 9.1 x 103! kg.

Mass of neutron = 1.675 x 1027 kg.

Mass of proton = 1.673 x 10~27 kg.

Avogadro’s number = 6.023 x 1023 per gram mole
Boltzman’s constant = 1.38 x 1023 JK!
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SECTION - A
1. Two charges —q each are placed at the vertices A and B of an equilateral
triangle ABC. If M is the mid-point of AB, the net electric field at C will

point along 1
4) CA (B) CB
(C) MC D) CM

2. A student has three resistors, each of resistance R. To obtain a resistance

2
of 3 R, she should connect 1

(A) all the three resistors in series.

(B) all the three resistors in parallel.

(C) two resistors in series and then this combination in parallel with the
third resistor.

(D) two resistors in parallel and then this combination in series with the
third resistor.

3. A1 cm straight segment of a conductor carrying 1 A current in x direction
lies symmetrically at origin of Cartesian coordinate system. The magnetic

field due to this segment at point (Im, 1m, 0) is 1
A) 1.0x10°kT B) -1.0x10°kT
5.0 A 5.0 A
C) = x10710kT D) ——=x10719k T
© 2 D) Nk
4. The magnetic field due to a small magnetic dipole of dipole moment ‘M’ at
a distance ‘v’ from the centre along the axis of the dipole is given by 1
Ho 2M Bo M
A) An ™ 13 (B) an ™ p3
Bo M Ho 2M
© 4n” o3 (D) An ™ 2
5. In the figure X is a coil wound over a hollow wooden pipe. 1
=
1
—
Y @ Z

A permanent magnet is pushed at a constant speed v from the right into
the pipe and it comes out at the left end of the pipe. During the entry and
the exit of the magnet, the current in the wire YZ will be from

(A) YtoZandthenY toZ (B) ZtoY and then Y to Z

(C) YtoZandthenZtoY (D) ZtoYandthenZtoY
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7. I3 IFABINT 200 V ac €0 9 TAINT & | T8 ZHHE fohell Jfar i 3000 V i 3mgfd
T & | Al MAfies pugelt T %I 6l T 450 7, A1 39h Tgdiae Fuse § W 6
T Bt —

(A) 30 (B) 450

(C) 4500 (D) 6750
8. = feam mn e WUk A TEI R 7

TR TR 3 SR 3 foagd &=

(A) TN BT 2 AT & TGC I I A ST & |
(B) =& a1 g a7 & @I S 9T ST ¢ |
(C) TERER FIT & qT &3 [@TL & 1% g] a1 & |
(D) TEREl BT 2 qUT &5 W G 9131 S| & |
9. i3 T 30.0 cm HETE doh TehH! TNER( g § W 8 | 39 29 <! defl W W fondft fesh i
JATITET TEWE 16.0 cm IR ST 2 | 38 g9 T TehIT <hl A1 Bt
(A) 1.6x108ms! (B) 2.0x108ms!
(C) 3.0x108ms! (D) 25x108ms!
10. BTSN TRET] ST qeaTY] TergHt Iceid W@y feret fiieh g8 ot 3mmaed o @ 2 | 98 e
T 38 U8 H BIST o1 BT St Ul Tehell 8, FEfetiad § & foraehl aewa & 7
(A) TR 3l (B) UM Fuft
(C) T3 goft (D) ¥l SR, T € 9eH 3T E gha Soft
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6. The alternating current I in an inductor is observed to vary with time t as
shown in the graph for a cycle. 1

1

| O — mp T |
Which one of the following graphs is the correct representation of wave
form of voltage V with time t ?

dl

ol T/ T

(A)

"

(©) > o

T/o| T
0 T/ T

7. A transformer is connected to a 200 V ac source. The transformer supplies
3000 V to a device. If the number of turns in the primary coil is 450, then

=l

the number of turns in its secondary coil is — 1
A) 30 (B) 450
(C) 4500 (D) 6750
8.  Which one of the following statements is correct ?
Electric field due to static charges is 1

(A) conservative and field lines do not form closed loops.

(B) conservative and field lines form closed loops.

(C) non-conservative and field lines do not form closed loops.
(D) non-conservative and field lines form closed loops.

9. A tub is filled with a transparent liquid to a height of 30.0 cm. The
apparent depth of a coin lying at the bottom of the tub is found to be

16.0 cm. The speed of light in the liquid will be 1
(A) 1.6x108ms! (B) 2.0x108ms!
(C) 3.0x108ms! (D) 25x108ms!

10. Atomic spectral emission lines of hydrogen atom are incident on a zinc
surface. The lines which can emit photoelectrons from the surface are
members of 1
(A) Balmer series
(B) Paschen series
(C) Lyman series
(D) Neither Balmer, nor Paschen nor Lyman series
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€ 4 D) 5
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(A)
(B)

(©)
D)

13.

14.

15.

16.
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It (A) ¢ el arrest sroemh g T S ol R T BT R |
%I (R) : Toret STt g e o dieear gedl ], T 9T wedl § |
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11. The energy of an electron in a hydrogen atom in ground state is —13.6 eV.
Its energy in an orbit corresponding to quantum number n is —0.544 eV.

The value of n is 1
A 2 B) 3
) 4 (D) 5

12. When the resistance measured between p and n ends of a p-n junction
diode 1s high, it can act as a/an — 1
(A) resistor (B) inductor
(C) capacitor (D) switch

For Questions 13 to 16, two statements are given — one labelled Assertion (A)

and other labelled Reason (R). Select the correct answer to these questions

from the codes (A), (B), (C) and (D) as given below :

(A) Ifboth Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) If both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of Assertion (A).

(C) If Assertion (A) is true but Reason (R) is false.

(D) Ifboth Assertion (A) and Reason (R) are false.

13. Assertion (A) : In a semiconductor diode the thickness of depletion

layer is not fixed. 1

Reason (R) : Thickness of depletion layer in a semiconductor device
depends upon many factors such as biasing of the
semiconductor.

14. Assertion (A) : In Bohr model of hydrogen atom, the angular
momentum of an electron in nt® orbit is proportional to
the square root of its orbit radius r.. 1

Reason (R) : According to Bohr model, electron can jump to its
nearest orbits only.

15. Assertion (A) : Out of Infrared and radio waves, the radio waves show
more diffraction effect. 1
Reason (R) : Radio waves have greater frequency than infrared
waves.

16. Assertion (A) : In an ideal step-down transformer, the electrical energy
is not lost. 1
Reason (R) : In a step-down transformer, voltage decreases but the
current increases.
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17.

18.

19.

20.

21.

22.

Qqug -@
(a) FHM e 3R auH B & g1 ar, feehl aagdl o1 3uTd 2 ¢ 3 7, et selft o
15 A R <l 3Yfd el &, T19e § HAIford & | 3 aRi | Jefed € A HI |
JHAYAT
(b) Tz @ guiv 3R ws iy ¥ V, V aur 2V faars. & o e ¥« @ R
TfeRIErehdT o Teh falgeh, C HTRAT o Teh BTG 9T 2R TiUeshd o Tsh 37
gferieres & SIS T & | TrRf 31at § 371d ST (1) P dem Q o 7e favemat aur

(ii) FuThE C o Rl o fasener |
I
Y C
Pr—| IF——a
2V 2R
| ——ww

foreft faferdt waivr o o & foreft formg W 66l et Bt smrcht 2 | e st T H &
Teh 0T <l el § 2 (n — 1) /), <l Fieg T o ToTT 3=k T2 H HICTE t TUT 31T 1
<1 I3 THel 3Me W & AT 2 | SAfdertor Y TUHTING &1 STTaT 2 37 37 3H TIH W
&<ff =mehiett fihst s STl 2 | n 3T A, % 9T H HIET t o [Tt Tae T Shif |
ARG ¥ T IFER & 3aad o A 3R B, S w3 6 ®id gt 8.0 cm 2, T
Y 16 cm G T IS SHETEIT T T8 | T A 4.0 em g0 T TR frw P i
@1 T 7 | 3tfem wffers i feufa 3t wepfa sma Hifs |

gl

A B
% B 3.0 x 10719 J 3 Topeft o1g % I8 W 400 nm TUICE 3T TR I LT 7 |

IR B ITeT fielad It Selareia <hl =Tel Tiehferd ShifvT |

faferent grare st dgeft dieedn 0.7 V 2 | 34 fag WV aitee s fopelt sedl o @ 2oft o
T 3T 1000 Q  foreft gferieres 1 GaifSTd stk 38 Y=Tferd foram T 8 | 39 fafa o
V 1 5H 3Td hITST STe ot 720 910 15 mA # |

Qug -1
(a) Ta.a19. E 31 3<ieh U 1 ol his T ohET Titerdt Sioler R 37 ferdft aieeriier
I R B R foveud exiar 8, A5 2 | V, E, R 3T ¢ o e 58 e shifoe |
(b) Toreft ot @ <ft TR GRT I bl ®ead o ®9 § oioht Ted bl Ao dieedt V I famon
%1 T AT AT <hl 3T WIFT | 39 T & HA 1 F9.97.9. TR 38HI 3T=h
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SECTION - B

17. (a) Two wires of the same material and the same radius have their
lengths in the ratio 2 : 3. They are connected in parallel to a battery
which supplies a current of 15 A. Find the current through the wires. 2

OR
(b) In the circuit three ideal cells of e.m.f. V, V and 2V are connected to a

resistor of resistance R, a capacitor of capacitance C and another
resistor of resistance 2R as shown in figure. In the steady state find
(1) the potential difference between P and Q and (i1) potential
difference across capacitor C.

v R

1 A

VI C
P+—| || Q

2v 2R

1| AN

18. In a double-slit experiment, 6th dark fringe is observed at a certain point of the
screen. A transparent sheet of thickness t and refractive index n is now
introduced in the path of one of the two interfering waves to increase its phase
by 2r (n — 1) t/A. The pattern is shifted and 8th bright fringe is observed at the
same point. Find the relation for thickness t in terms of n and A. 2

19. Two concave lenses A and B, each of focal length 8.0 cm are arranged
coaxially 16 cm apart as shown in figure. An object P is placed at a
distance of 4.0 cm from A. Find the position and nature of the final image

formed. 2
P
o
A B
20. A light of wavelength 400 nm is incident on metal surface whose work function
is 3.0 x 1019 J. Calculate the speed of the fastest photoelectrons emitted. 2

21. The threshold voltage of a silicon diode is 0.7 V. It is operated at this point
by connecting the diode in series with a battery of V volt and a resistor of
1000 Q. Find the value of V when the current drawn is 15 mA. 2

SECTION - C
22. (a) A cell of em.f. E and internal resistance r is connected with a
variable external resistance R and a voltmeter showing potential
drop V across R. Obtain the relationship between V, E, R and r. 3
(b) Draw the shape of the graph showing the variation of terminal voltage V
of the cell as a function of current I drawn from it. How one can determine
the e.m.f. of the cell and its internal resistance from this graph ?

I 55/2/1 Page 11 of 24 P.T.O. I
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23. (a)

(b)

24. (a)
(b)

25. (a)

(b)
(c)
26. (a)
(b)
(c)

I 55/2/1
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23. (a) In aregion of a uniform electric field E, a negatively charged particle

AN
1s moving with a constant velocity Y = —v,1 near a long straight

conductor coinciding with XX' axis and carrying current I towards —X
axis. The particle remains at a distance d from the conductor. 3
(1) Draw diagram showing direction of electric and magnetic fields.

(11) What are the various forces acting on the charged particle ?

(iii) Find the value of v in terms of E, d and L.

OR
(b) Two infinitely long conductors kept along XX and YY axes are
carrying current I, and I, along —X axis and —Y axis respectively.
Find the magnitude and direction of the net magnetic field produced
at point P(X, Y).
24. (a) State Lenz’s law. 3
(b) In the given figure :

(1) Identify the machine.

(11) Name the parts P and Q and R of the machine.

(111) Give the polarities of the magnetic poles.

(1v) Write the two ways of increasing the output voltage.

%
25. (a) The electric field E of an electromagnetic wave propagating in north
direction 1is oscillating in up and down direction. Describe the

direction of magnetic field _B) of the wave. 3
(b) Are the wave length of radio waves and microwaves longer or shorter
than those detectable by human eyes ?
(¢) Write main use of each of the following in human life :
(1) Infrared waves (1)) Gamma rays
26. (a) When a parallel beam of light enters water surface obliquely at some
angle, what is the effect on the width of the beam ? 3
(b) With the help of a ray diagram, show that a straw appears bent

when it 1s partly dipped in water and explain it.
(¢) Explain the transmission of optical signal through an optical fibre by
a diagram.

I 55/2/1 Page 13 of 24 P.T.O. I
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27.

28.

29.

(a) SEUH HEAT o A1 Ui fFA3N I8 oAl b1 foreror guigT | 38 §o SHofl sk &
TEcd ol Ieoid iU | 3
(b) v =feerstia T s St 3 <) Tifres foreft wfa feaatta stferes svem ot &
1fiyeR <1 FAmiT a3
() I8 forl TP <1 TRk Sfiferan 2 2
(i) T TTERT b1 ol G ST &, Tl § J1aT HUNGfdd W 8 ?
(i) T 39 TTehAT i ol shl HATERIAHAT Bl & 31T 3HH Froll 3cd— it 2 2

(a) Torslt sTag=ht Srelaere o ST 3N STeTEETSH IS a1 F1 8ld & 2 3
(b) IS p-n Tl 7T THHA & | 3HH YT 30~ hid dTcd TG FAT&eh] <h! T bl IUM
T |

(c) T T TohHl p-n Tl SIS o foTU dicedt o |1 & <1 feremor gemian T g |
T (mA) |

301

207

wefefers 10 e
CIRE| T ==&«

| | | | ! ! ] | | |

1 S g 1 i 1 1 1 1 1 1 1 1
120— © -12 -10 -08-0.6 0402 0 02 04 06 0.

V (volts)

V= —O.GWHIE@E%WWW HThed hIfNTT |

Qug -y

I T 29 TAT 30 HH- AT NG T4 & | F Wwms! <1 ue qur = feu e
eI o I C |
e ol e 7 ¢ g A & o e Ragdeh s 3 arg, s o
BRI 9k ToRaT ST 2 | ST 3 Ufgentali sl fopeft sttt o <fiflaenl & T fopan S &,
3 guH quT T 3Tmes T St § q91 3 e ais fogga & fafia & wmar §
ufgerratt & off fififa g & Sy favar=m, Jfgehtati < ek a0 afgehtsti o s=
o HTEIH i Fehfd T AR T 2 | 4x1=4
(i) et TR afgent wenfer i afgensti & s faga & E 8 | 319 dfgehisti & o=

TR I G AT GT 1Y & Ifgehial & s Tgad favar- ol §a fawar-= &1

e SR feam T B | ufgehtai o ofter T ferega & B

(A) E (B) 2E

E E
© 3 ®) 3
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27. (a) Show the variation of binding energy per nucleon with mass number.
Write the significance of the binding energy curve. 3

(b) Two nuclei with lower binding energy per nucleon form a nuclei with
more binding energy per nucleon.

1)

(i1)

(1i1)
28. (a)

What type of nuclear reaction is it ?

Whether the total mass of nuclei increases, decreases or
remains unchanged ?

Does the process require energy or produce energy ?

What are majority and minority charge carriers in an extrinsic

29.

I 55/2/1

semiconductor ? 3
(b) A p-n junction is forward biased. Describe the movement of the
charge carriers which produce current in it.
(¢c) The graph shows the variation of current with voltage for a p-n
junction diode.

I (mA)
30t
201 |
104 %
Reverse Forward ]
bias bias /
| (_.( | | | ! ! ] T |

== S | 1 1 I I I I

T ==
-12.0,- 1.2 1.0 -0.8 0.6 -04 02 0 02 04 0.6 0.
[ V (volts)

Estimate the dynamic resistance of diode at V = —0.6 volt.

SECTION - D

Question numbers 29 and 30 are case study based questions. Read the
following paragraphs and answer the questions that follow.

A parallel plate capacitor has two parallel plates which are separated by
an insulating medium like air, mica, etc. When the plates are connected to
the terminals of a battery, they get equal and opposite charges and an
electric field is set up in between them. This electric field between the two
plates depends upon the potential difference applied, the separation of the

plates and nature of the medium between the plates. 4x1=4

(1) The electric field between the plates of a parallel plate capacitor is E.
Now the separation between the plates 1s doubled and
simultaneously the applied potential difference between the plates is
reduced to half of its initial value. The new value of the electric field
between the plates will be :

) E
© %

(B) 2E
o =
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(i)

(iii)

(iv)

I 55/2/1

Tereht wanfar, foraeht afgehiat s guehd d 9w < |1 foremor star 7, 1 afgeprati
% st T forega & sme W ® | e T & s wee & e fafafaa §
T S 91 Teh U TTgehl3T oh 1= GUeh (d) 1 HeH oh €T H oiehl TIgeh1Al o sl
ISR 1 ST et dteear (V) 1 a8 s sar g 2

v v

(A) / (B)

d d
14 14
(©) i D)
d d

Q+++++++M++++++

I feu T am@ & P 3 Q forelt wenfer <t & w=at ufgeptd # | fgeht Q ufgemt P
o FTI&T GHTeh favd TR | MN QHI afgsh1aii <h oraiad @i it shicdi-e @i 2 |
9 E1 1T @1 MN % Frfew ferega & e E % aftar s fereor o ae evian @ 2

N A

M N M N

o1\ /

M N M N

F T 9T T g % SR Freead it % o aue R d
Tl § | afg1ait 3 veet et % i g 8 B, aun oyt 3 g g % d
i 8 B, & | et 3k drarft wfient & e fevraran 2

E
(©) T

A B,+E,-d B) (E,-E, d
I d(E, + E,)
©) (E,—-E)-d O —5
e
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- (i)

(iii)

(iv)

I 55/2/1

A constant electric field is to be maintained between the two plates of
a capacitor whose separation d changes with time. Which of the
graphs correctly depict the potential difference (V) to be applied
between the plates as a function of separation between the plates (d)
to maintain the constant electric field ?

1% 1%
@) / ®)
4 d
1% 1%
©) i D)
d d
R S

Q+++++++M++++++

In the above figure P, Q are the two parallel plates of a capacitor.
Plate Q 1s at positive potential with respect to plate P. MN is an
imaginary line drawn perpendicular to the plates. Which of the

graphs shows correctly the variations of the magnitude of electric
field strength E along the line MN ?

AN A

M N M N
E—— E ‘\\ /"
© | o) 1 \_/
M N M N

Three parallel plates are placed above each other with equal
9
displacement d between neighbouring plates. The electric field

_)
between the first pair of the plates is E; and the electric field

_)
between the second pair of the plates is E,. The potential difference
between the third and the first plate is —

@A) B, +Ep-d B) (E,-E,-d
I d(E, + Ey)
©) (E,-E)-d O —5
OR
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. (iv) @il C % foret T ufgest watta &1 afgest % o9 waeds K 1 55
veTel YT B | 3Eeh! TRAT <1 14T /I &1 -

@ c ®)

(C) CK D) C(l +%j

30. TS ohIg 3fad TR T DI FRET 9T < I8 T ST HLAT &, 1 SHH i3 Bl Seiagq
Iafsld g1 @ | 9fE a7 e 8 61 el Sl (v,) § W Il 2l I el
Wﬁ?ﬁ?ﬁm% Wﬁzﬁaﬁ%ﬁmmv(w%)%mwﬁhqﬁﬁs@agﬁﬁaﬁﬂﬁa
M h(v —v,) Bl 2 | TS W el fovar v, T el forva s &, o1 S1sRiT hteh
YehTI3eh NI Sl UehT ST Hehdl & | 39 YR Bl Joiael sl fepad Tfast ot
K_ =eV, =h@-v,) | 3@ H fHl a1g % [T V_ 31 v o = TR U1 gt
T | 9% T W@ & el yauret (@) m 2 | 4x1=4

Vv, /
To

-
//” Vo —>V

(i) < argst o fore g we W& u
(A) TH-GEL T HITG A & |
(B) UH-gEL & TH=I A # |
(C) TH-GEX o GHIR & I qT v-3787 o feheft forg W ahTed 2 |
(D) TH-GEX o U 4] aId a2 v-378 o fereft forg W d Hred 3 |
(i) 39 oTg o foTC it frdiss H1 a8 -

@ = ® -
(©) me ®) o
(ili) T o v-318& 3T V_-3& o HeH & SHm:
(4) hT B) v, hv,
hv,
(©) o Y% D) hv,, v,
<LE]]
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. (1v) A material of dielectric constant K is filled in a parallel plate
capacitor of capacitance C. The new value of its capacitance becomes

A) C

(C) CK

C
® %
(D) 0(1 +%

30. When a photon of suitable frequency is incident on a metal surface,
photoelectron is emitted from it. If the frequency is below a threshold
frequency (v) for the surface, no photoelectron is emitted. For a photon of

frequency v(v > v), the kinetic energy of the emitted photoelectrons is
h(v — v)). The photocurrent can be stopped by applying a potential V_

called ‘stopping potential’ on the anode. Thus maximum kinetic energy of
photoelectrons K = eV_ = h(v —v ). The experimental graph between V_

and v for a metal is shown in figure. This is a straight line of slope m. 4 x 1 =4

()

(i1)

(iii) The intercepts on v-axis and V -axis of the graph are respectively :

I 55/2/1

The straight line graphs obtained for two metals
(A) coincide each other.

(B) are parallel to each other.

(C) are not parallel to each other and cross at a point on v-axis.

(D) are not parallel to each other and do not cross at a point on v-axis.

The value of Planck’s constant for this metal is

@ =
(C) me

hv,

@) vy
hv,

© %,

® —-

O o

B) v,, hv,
D) hv,,v,
OR
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(iii) <& fopeft wictT it almeed < T Y It B o SERT T T 3R e e

(iv)

31. (a)

(b)

32. (a)

I 55/2/1

Fr T A 2 9
@ 23 ® 33
© 32 D) 2,2
Topet WBIelT &1 HaT 5.0 x 10729 kg. m/s & | ANfTehar ywmei (Ifg +1 8) 6
e e g e 1 o 2
(A) 1.33 um (B) 3.3 um
(©) 16.6 um (D) 13.3 um
gig — ¢

()

(i)

()

(i1)

(iii)

()

s ¢+ 1 BIg oY =1erh el A S fawg V ae armafard 7, Brsm R o foreft
el =Tets @it B 9 2 | afe A 37t B <1 fopeft waed ar & wenfora fepan
TR, e A 9T @iel B W 3ifem faver aftesfera i |
THferTe g8T % < Afireter faRau | +x-3781 6 arfe fore wem & 50 NC-1
o1 THUA forgd & wefua foram a2 | 3fe 7 forg (0, 0) Wfawa 220 V
2, A1 fog (4m, 3m) R fowd 1 I |
CLEN
Toret Get g8 37R forell 5 I8 < o= T 3= g ? Torelt Tiiehia 98 S W foig

RfEve gt afew dS smfaa Hif |

ToRet I8 | 9 a1 foRld wed sl IR fReau | TeH I8 % AEw
@RT | foreft TTISHE g8 < STt T 37O 39 U8 § ToRA 91 %ol fargd
oo H IS ANTET TEl ol & | % 2

forelt g el @il S, % Wik foirg /™ q, = -3 pC, q, = -2 uC T
Q3 =9pC? | 32 T el S ST @A S, W o< 2 | gH1 981 S, 3R S,
o o= %13 3w Q ferd 3 1 3fg S, & o et Toreggd oo <61 g 1 S,
T TS ST FTad 4 THT 8, a1 3Te Q FTd hIfT |

et & 1 fera feret STl =iTeteh T hRRd §1oT T Hid T BT 8 7
e HE AR TToreh, T8 TRt 9 SeifEd 8 @8, o S hrRid s
o ToTU SoTeh UTed SHIfSTT 3T 39 TehR “TIRET <hY i € |
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(111) When the wavelength of a photon is doubled, how many times its
wave number and frequency become, respectively ?

@ 23 ® 33
© 32 D) 2.2

27
(iv) The momentum of a photon is 5.0 x 1072° kg. m/s. Ignoring
relativistic effects (if any), the wavelength of the photon is

(A) 1.33 um (B) 3.3 um
(C) 16.6 ym (D) 13.3 um
SECTION - E

31. (a) (1) A small conducting sphere A of radius r charged to a potential
V, is enclosed by a spherical conducting shell B of radius R. If A
and B are connected by a thin wire, calculate the final potential
on sphere A and shell B. 5

(1) Write two characteristics of equipotential surfaces. A uniform
electric field of 50 NC~! is set up in a region along +x axis. If the
potential at the origin (0, 0) is 220 V, find the potential at a
point (4m, 3m).

OR

(b) (1) What is difference between an open surface and a closed surface ?

9
Draw elementary surface vector dS for a spherical surface S.

(1) Define electric flux through a surface. Give the significance of a
Gaussian surface. A charge outside a Gaussian surface does not
contribute to total electric flux through the surface. Why ?

(i11) A small spherical shell S, has point charges q; =-3 uC, q, =-2 pC
and qg = 9 pC inside it. This shell is enclosed by another big
spherical shell S,. A point charge Q is placed in between the
two surfaces S; and S,. If the electric flux through the surface
S, is four times the flux through surface S;, find charge Q.

32. (a) (1) What i1s the source of force acting on a current-carrying
conductor placed in a magnetic field ? Obtain the expression for
force acting between two long straight parallel conductors
carrying steady currents and hence define ‘ampere’. 5
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(b)

33. (a)

(b)
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(i1)

(iii)

()

(i)

(iii)

(i)

()

(i1)

foreft worEI g 8 B # B fag AW o Y § RmE 3 1 5w
TS T Freehi ot g feharm 7 sl FTa <hIfT |
37 AT Il <hl AT hifoe [ fopeft smmafdra ot o1 foref} wohem™

rEehT & § Y- Hugferl BT 7 |
COCH)

ToRet arraTEt uTeT Wi ST 37& % Irdfew e foel greehi fgya <hi wifa
T ST HehdT & | SATEAT ST |

YRET! Fvech % g faya st M % R g9 e B | M 6
fem ferfare |

HIS TRIETE Fueel! fhefl aTer teheme Traehia 8 # fRya 2 | 98 Fuseht
T & U T o foTC T 8 | Pugelt W HRRT 1< 9 1 8 ? wrf
Hor 3 38 Huselt &1 A= e HifT | 7g wize 6 35 sfrfommg
T Hol & (U1 gRT 30~ & + STEI &) 1 Hugell 8 T aTell Forad
fereham B |

TS (f/4) 31 oIS Tel! U Bk G £ o ToRET U o T 3187 o HUTdl

w2 | 39 Uitet sk ffers areferes 3 foafifa @ aen dfe o S-St

T AT 2 | UUT gRT S~ STEE Tfehfetd shifsT |

s T fohtur fopet fiism ABC & 319edeh Botsh AB W 45° o hiv T

T B ET 2 | I8 Fontor eteh AC & ffa Bieft 2 e fermrer hior 15° % |

Ife fisq o1 30° 2, 1 I8 euisy for ffa femtor woes AC, fre@ o7 frfa

Bt ®, o ATToTrsed gl & | TS0 o Tered sl A9ed-Teh 3Td shilaTy |

COCH

fereft Tgfert =T & 600 nm 3R 480 nm T I ATTRET | TheTeht a7 T

T 3TN HfehtuT fipsil ol ITed i H fohan T 8 | e bl f3f&@i & 1.0 m

1@ T g e Tt o 99U 1.0 nm 2 |

(1) ¢ W 600 nm TeH % 5 =8 § dell =mehictt 5 1 gt
aftenferd sHifSTY |

2) < 38 @ 9% 9 ¥ Fu ¢ft @ AN el ST qures!
THehIcA fobet HuTa it 8 |

(1) Tt Teopet T3t ferarde Qe 1 ferac pivT o | <fieran o formor <1 U
Hifau | s e i raferfii o degEd Hiv % 7F % o e
foaftm |

(2) TS AT bl e ety an < faada A fpg ®q = g & 2
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33. (a)

(b)
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(i)

(iii)

()

(i1)

(iii)

()

(i)

()

(i1)

A point charge q is moving with velocity v in a uniform

magnetic field _B) Find the work done by the magnetic force on
the charge.
Explain the necessary conditions in which the trajectory of a
charged particle is helical in a uniform magnetic field.

OR
A current carrying loop can be considered as a magnetic dipole
placed along its axis. Explain.

9
Obtain the relation for magnetic dipole moment M of current

carrying coil. Give the direction of 17[

A current carrying coil is placed in an external uniform
magnetic field. The coil is free to turn in the magnetic field.
What is the net force acting on the coil ? Obtain the orientation
of the coil in stable equilibrium. Show that in this orientation
the flux of the total field (field produced by the loop + external
field) through the coil is maximum.

A thin pencil of length (f/4) is placed coinciding with the
principal axis of a mirror of focal length f. The image of the
pencil is real and enlarged, just touches the pencil. Calculate
the magnification produced by the mirror.

A ray of light is incident on a refracting face AB of a prism ABC

at an angle of 45°. The ray emerges from face AC and the angle

of deviation is 15°. The angle of prism is 30°. Show that the
emergent ray is normal to the face AC from which it emerges
out. Find the refraction index of the material of the prism.

OR

Light consisting of two wavelengths 600 nm and 480 nm is used

to obtain interference fringes in a double slit experiment. The

screen is placed 1.0 m away from slits which are 1.0 nm apart.

(1) Calculate the distance of the third bright fringe on the
screen from the central maximum for wavelength 600 nm.

(2) Find the least distance from the central maximum where
the bright fringes due to both the wavelengths coincide.

(1) Draw the variation of intensity with angle of diffraction in
single slit diffraction pattern. Write the expression for
value of angle corresponding to zero intensity locations.

(2) In what way diffraction of light waves differs from
diffraction of sound waves ?
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